THRBELIRES

[ Frk 24 F£2 A 29 B 1]# ]

1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it oy
1A 85 98 183 51 201 | &7 EREp 372 410 782 297 36 |BHABEN 643 650 1,293 352
(0 1) ( 1) (—TH) 2) NniC 3 STH) (0 1) 1)
pALUN = 379 390 769 298 202| &7 R D 673 708 1,381 568 N7FHAEEL 0 0 0 0
(. oolC 4 C 4 (ZTH) 3) 2) | ( 5) (ETH) (. olC 0 0)
3| HTH 74 85 159 51 203 |'& /7 AR 580 583 1,163 447 318 |BHABEEIN 0 0 0 0
(O 0 C 0 (=TH) 1) 2 3 U\TH) (. olC 0 0)
4B 347 423 770 331 204 |8 /7 AR 488 524 1,012 397 321 | HEE— 0 0 0 0
(O 0 C 0 (MTH) 2) 2 4 (— T H1~4%F) (. 0olC 0 0)
5— /B4 68 60 128 37 211 |k 419 412 831 327 322| X HE— 215 224 439 136
(O 0 C 0 (—TH) 0) 1) ( 1) (T 4 ( 2) | ( 2) 4)
6| —/F4 87 85 172 51 212 |kt 218 249 467 178 323 | HE— 700 685 1,385 406
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (Z T H4) ( 2 4 6)
7= B4 159 161 320 106 213 |kt 280 250 530 185 324 | HEE 395 402 797 283
(ol 0 C o0 (=TH) 0) 0 C 0 (WTH1~17&#) | (0| ( 0 0)
8|&E I H 162 153 315 102 214 |k 359 375 734 299 325 | HEE — 685 709 1,394 411
(0 1) ] ( 1) (MTH) 0) 0 C 0 (LT H48) ( 1) ( 2) 3)
9| gt H 50 42 92 27 221 | BT DOY—TH 591 607 1,198 427 326 | HE— 344 383 727 208
( 0]( 1) | ( 1) 0) 0/ C 0 (RTH1~17&H#) | ( 0) | ( 1) 1)
105 67 63 130 38 222 | BHITDOY T H 707 696 1,403 502 327 | HEE = 884 909 1,793 519
(O 0 C 0 1) 2) | ( 3) (£71T B4 (. 0olC 0 0)
11| K= 44 46 90 22 223|BHITOY=TH 854 836 1,690 613 328 |k M = 245 250 495 160
( 0/ 0/C o0 0) 1) | ( 1) O\T H48) (. olC 0 0)
12|45 5% 104 91 195 53 231|HEE—TH 619 652 1,271 440 329|pk M = 4 4 8 5
(0]« 1) ( 1) 0) 0| C 0 (uT B 48) (. olC 0 0)
13 K& 45 49 94 23 232|HEE-TH 803 847 1,650 572 331 | A HEE 2 11 13 13
(O 0 C 0 2) 4) | ( 6) (— T H5~8%h) (. 0olC 0 0)
14 A FH 85 87 172 45 233|HER=TH 366 389 755 256 334 | HEE = 425 416 841 305
(ol 0 C o0 0) HniC 1 (UTH18~28%H) (2 ( 3) 5)
15/8A 103 77 180 50 241 | BTG — 426 436 862 263 336 | HEE — 456 482 938 266
(O 0 C 0 0) 2) | ( 2) OSTH18~35%#)| (- 0) | (. 0) 0)
16| P& 1% 104 122 226 61 242 |1 T54E — 221 218 439 128 401| ERAA—TH 621 649 1,270 395
(0 1) ( 1) 1) 0) | ( 1) (4] 1) 5)
20 i K Afh 269 264 533 183 301 | MG HH— 432 478 910 353 402 ERAARTTH 0 0 0 0
(O 0 C 0 (—TH) 0) 0 C 0 (0l C 0 0)
101 | K74 329 367 696 254 302 RIAEEH— 421 457 878 350 411\ KiGAK—TH 693 710 1403 401
(—TH) ( 1) ( NniC 2 (ZTH) 1) 2 3 ( 5) | ( 5) 10)
102 | K74 276 286 562 206 303 HGH = 548 606 1,154 442 412 KGR —TH 337 356 693 214
(ZTH) (O 0 C 0 0) 2) | ( 2) ( Hn C 0 1)
111 O&hE—TH 824 849 1,673 613 304 A GE Y =— 1Y 160 189 349 163
( 5) | ( . C 8 0) 3) | ( 3)
M2/ 0&0ETH 481 442 923 363 M |\BFHABEE— 573 631 1,204 407
(0 ( 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 268 247 515 158 312|HAEHE 485 529 1,014 319
(O 0 C 0 (ZTH) 0) I C 3
140|LHDR 206 195 401 150 NI FAEE= 674 686 1,360 405
(—TH) ( 1) ( NI 2 (=TH) 1) 4) | ( 5)
141 | HOR 49 58 107 40 M4 BHABRE= 211 211 422 144
(—TH) (O 0 C 0 (MTH) 3) 0 C 3
142\ L H0R 345 358 703 259 5 HAREL 1,095 1,044 2,139 670
(ZTH) ( 2) | ( 6) (8 (MWTH,EZTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ & ] B 24234 A % 24961 A i 49,195 A 16,798 tH
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 44) ( 74) ( 118)
SIVERAP 1, BT FATBIXISE END08, ERINZERHL TVET, [ ATAXRE ] 5 2418 A 24920 A &t 49,103 A 16,774 7
[# &) B 51 A 41 A o922 A 24 {HE




